

Normal Road, Baliwasan Zamboanga City www.wmsu.edu.ph Telephone: 062-991-1771 LOC 1003

#### INVITATION TO BID

The Western Mindanao State University, through its Bids and Awards Committee (BAC), is inviting PhilGEPS registered suppliers to apply for eligibility and to submit bids for the item mentioned hereunder:

Name of Project: Procurement of Various Hardware, Plumbing and Construction

Materials (Rebid)

Approved Budget Cost: **PHP 466,423.67**Purchase Request No.: **PR 25-02-081 Rebid**Closing Date: **April 30, 2025 9:30 AM**Delivery Period: **Thirty (30) Calendar Days** 

Bid Docs: **Php.500.00** 

- 1.) 20 pcs of #4-Steel Cutting Disc . 78.00/pcs. Total of 1,560.00
- 2.) 10 pcs of #4-Diamond Tile Cutting Disc. 420.00/pcs. Total of 4,200.00
- 3.) 10 pcs of 1/8"Ø Masonry Drill Bit. 78.00/pcs. Total of 780.00
- 4.) 10 pcs of 3/16"Ø Masonry Drill Bit. 102.00/pcs. Total of 1,020.00
- 5.) 10 pcs of 1/4"Ø Masonry Drill Bit . 90.00/pcs. Total of 900.00
- 6.) 5 pcs of 1/2"Ø x 12" Masonry Drill Bit . 1,500.00/pcs. Total of 7,500.00
- 7.) 5 boxes of 1/8"Ø x 1/2" Blind Rivet . 264.00/boxes. Total of 1,320.00
- 8.) 5 kilos of 1" CW Nails . 84.00/kilos. Total of 420.00
- 9.) 2 kilos of  $2\frac{1}{2}$ " CW Nails . 84.00/kilos. Total of 168.00
- 10.) 2 kilos of 4" CW Nails . 78.00/kilos. Total of 156.00
- 11.) 2 kilos of 1" Finishing Nails . 84.00/kilos. Total of 168.00
- 12.) 2 kilos of 2½" Finishing Nails. 84.00/kilos. Total of 168.00
- 13.) 2 kilos of 2" Concrete Nails . 144.00/kilos. Total of 288.00
- 14.) 2 kilos of 3" Concrete Nails . 144.00/kilos. Total of 288.00
- 15.) 2 kilos of 4" Concrete Nails. 144.00/kilos. Total of 288.00
- 16.) 10 sets of Lever Type Door Knob (Heavy Duty) . 1,800.00/sets. Total of 18,000.00
- 17.) 10 pair of 2" Hinges . 144.00/pair. Total of 1,440.00
- 18.) 10 pair of 3" Loose Pin Hinges . 198.00/pair. Total of 1,980.00  $\,$
- 19.) 10 pcs of 4" Double Action Hinges . 438.00/pcs. Total of 4,380.00
- 20.) 30 tin of SEALANT, 1 liter/tin. 420.00/tin. Total of 12,600.00
- 21.) 5 gallon of SEALANT. 1,344.00/gallon. Total of 6,720.00
- 22.) 130 pcs of 2" Teckscrew . 3.00/pcs. Total of 390.00
- 23.) 20 kilos of #16 Tie-Wire . 102.00/kilos. Total of 2,040.00



CETIFICATION ABOUT OF COLUMN TO COLU

Normal Road, Baliwasan Zamboanga City www.wmsu.edu.ph Telephone: 062-991-1771 LOC 1003

- 24.) 3 roll of 1/2"Ø PE Pipe (SDR-11) . 4,312.80/roll. Total of 12,938.40
- 25.) 10 pcs of 1/2"Ø PE Coupling (Plason) . 52.80/pcs. Total of 528.00
- 26.) 5 pcs of 1/2"Ø PE Elbow (Plason) . 61.20/pcs. Total of 306.00
- 27.) 5 pcs of 1/2"Ø PE Tee (Plason) . 66.00/pcs. Total of 330.00
- 28.) 5 pcs of 1/2"Ø PE Male Adaptor (Plason) . 27.60/pcs. Total of 138.00
- 29.) 5 pcs of 1/2"Ø PE Female Adaptor (Plason) . 33.60/pcs. Total of 168.00
- 30.) 5 pcs of 1/2"Ø x 1"Ø PE Reducer (Plason) . 57.60/pcs. Total of 288.00
- 31.) 5 pcs of 1/2"Ø PP-R Plug. 14.40/pcs. Total of 72.00
- 32.) 5 pcs of 1/2"Ø PP-R (PN-20) Pipe . 336.00/pcs. Total of 1,680.00
- 33.) 5 pcs of 1/2"Ø PP-R Coupling . 28.80/pcs. Total of 144.00
- 34.) 5 pcs of 1/2"Ø PP-R Elbow (Plain) . 28.80/pcs. Total of 144.00
- 35.) 5 pcs of 1/2"Ø PP-R Elbow (w/ Tread) . 148.80/pcs. Total of 744.00
- 36.) 5 pcs of 1/2"Ø PP-R Tee (Plain) . 36.00/pcs. Total of 180.00
- 37.) 5 pcs of 1/2"Ø PP-R Gate Valve . 492.00/pcs. Total of 2,460.00
- 38.) 5 pcs of 1"Ø PP-R Coupling . 21.60/pcs. Total of 108.00
- 39.) 5 pcs of 1/2"Ø G.I. Coupling . 58.20/pcs. Total of 291.00
- 40.) 5 pcs of 1/2"Ø G.I. Union . 126.00/pcs. Total of 630.00
- 41.) 5 pcs of 1/2"Ø x 2" G.I. Nipple . 13.20/pcs. Total of 66.00
- 42.) 5 pcs of 1/2"Ø x 3" G.I. Nipple . 16.20/pcs. Total of 81.00
- 43.) 5 pcs of 1/2"Ø X 4" G.I. Nipple . 19.20/pcs. Total of 96.00
- 44.) 5 pcs of 1"Ø G.I. Plug . 51.00/pcs. Total of 255.00
- 45.) 5 pcs of 1"Ø G.I. Coupling . 58.20/pcs. Total of 291.00
- 46.) 5 rolls of 3/4" Teflon Tape . 21.60/rolls. Total of 108.00
- 47.) 5 pcs of 2"Ø PVC Pipe (S-1000) . 348.00/pcs. Total of 1,740.00
- 48.) 5 pcs of 2"Ø PVC Coupling . 69.60/pcs. Total of 348.00
- 49.) 5 pcs of 2"Ø PVC Tee . 69.60/pcs. Total of 348.00
- 50.) 5 pcs of 2"Ø PVC Wye . 69.60/pcs. Total of 348.00
- 51.) 5 pcs of 2"Ø PVC Elbow 45?. 54.00/pcs. Total of 270.00
- 52.) 5 pcs of 2"Ø PVC Elbow 90? . 54.00/pcs. Total of 270.00
- 53.) 5 pcs of 2"Ø PVC Clean Out . 36.00/pcs. Total of 180.00



CETIFICATION ABBUTTANCOME CONTROL OF CONTROL

Normal Road, Baliwasan Zamboanga City www.wmsu.edu.ph Telephone: 062-991-1771 LOC 1003

- 54.) 5 pcs of 1/2"Ø Flexible Hose . 222.00/pcs. Total of 1,110.00
- 55.) 5 pcs of 3"Ø PVC Pipe (S-1000) . 780.00/pcs. Total of 3,900.00
- 56.) 5 pcs of 3"Ø PVC Coupling . 69.60/pcs. Total of 348.00
- 57.) 5 pcs of 3"Ø PVC Tee . 69.60/pcs. Total of 348.00
- 58.) 5 pcs of 3"Ø PVC Wye . 69.60/pcs. Total of 348.00
- 59.) 5 pcs of 3"Ø PVC Elbow 45? . 54.00/pcs. Total of 270.00
- 60.) 5 pcs of 3"Ø PVC Elbow 90?. 54.00/pcs. Total of 270.00
- 61.) 5 pcs of 3"Ø PVC Clean Out . 36.00/pcs. Total of 180.00
- 62.) 5 pcs of 4"Ø PVC Pipe (S-1000) . 1,110.00/pcs. Total of 5,550.00
- 63.) 5 pcs of 4"Ø PVC Coupling . 69.60/pcs. Total of 348.00
- 64.) 5 pcs of 4"Ø PVC Tee . 84.00/pcs. Total of 420.00
- 65.) 5 pcs of 4"Ø PVC Wye . 91.20/pcs. Total of 456.00
- 66.) 5 pcs of 4"Ø PVC Elbow 45? . 81.60/pcs. Total of 408.00
- 67.) 5 pcs of 4"Ø PVC Elbow 90? . 81.60/pcs. Total of 408.00
- 68.) 5 pcs of 4"Ø PVC Clean Out . 78.00/pcs. Total of 390.00
- 69.) 5 qrts of Solvent Cement . 216.00/qrts. Total of 1,080.00
- 70.) 10 pcs of 1/2"Ø Stainless Steel Faucet . 480.00/pcs. Total of 4,800.00
- 71.) 10 pcs of 1/2"Ø G.I. Faucet . 216.00/pcs. Total of 2,160.00
- 72.) 10 sets of Lavatory Faucet w/ Complete Accessories. 780.00/sets. Total of 7,800.00
- 73.) 5 pcs of 1/2"Ø G.I. Ball Valve . 330.00/pcs. Total of 1,650.00
- 74.) 5 pcs of 1/2"Ø PP-R Ball Valve . 300.00/pcs. Total of 1,500.00
- 75.) 5 pcs of 1/2"Ø PP-R Double Angle Valve . 300.00/pcs. Total of 1,500.00
- 76.) 5 pcs of 1/2"Ø Bidet Hose . 264.00/pcs. Total of 1,320.00
- 77.) 5 pcs of 1/2"Ø Supply Flexible Hose . 300.00/pcs. Total of 1,500.00
- 78.) 5 roll of 3/4" Teflon Tape . 42.00/roll. Total of 210.00
- 79.) 5 pcs of 4" Floor Drain (Stainless) . 144.00/pcs. Total of 720.00
- 80.) 5 sets of Water Closet Complete Accessories . 342.00/sets. Total of 1,710.00
- 81.) 5 gals of Neutralizer . 336.00/gals. Total of 1,680.00
- 82.) 5 gals of Penetrating Sealer . 540.00/gals. Total of 2,700.00
- 83.) 5 gals of Primer Paint . 900.00/gals. Total of 4,500.00



CETIFICATION ABB ANNIE SENSON SENSON

Normal Road, Baliwasan Zamboanga City www.wmsu.edu.ph Telephone: 062-991-1771 LOC 1003

- 84.) 5 gals of CAST PAINT. 702.00/gals. Total of 3,510.00
- 85.) 10 kilos of Patching Compound . 26.40/kilos. Total of 264.00
- 86.) 3 gals of Reducer . 540.00/gals. Total of 1,620.00
- 87.) 3 gals of Paint Thinner . 384.00/gals. Total of 1,152.00
- 88.) 15 gals of Latex Paint Flat (White) . 900.00/gals. Total of 13,500.00
- 89.) 15 gals of Latex Paint Semi-Gloss (White) . 1,000.00/gals. Total of 15,000.00
- 90.) 3 gals of Quick Dry Enamel (QDE) Paint (Choco Brown).985.20/gals. Total of 2,955.60
- 91.) 3 gals of Quick Dry Enamel (QDE) Paint (White) . 912.00/gals. Total of 2,736.00
- 92.) 10 gals of Latex Paint Semi Gloss (Crimson Red). 900.00/gals. Total of 9,000.00
- 93.) 6 pints of Raw Sienna . 108.00/pints. Total of 648.00
- 94.) 6 pints of Venetian Red . 108.00/pints. Total of 648.00
- 95.) 6 pints of Lamb Black . 108.00/pints. Total of 648.00
- 96.) 5 gals of Red Oxide Primer . 444.00/gals. Total of 2,220.00
- 97.) 3 gals of Zinc Chromate Primer . 1,320.00/gals. Total of 3,960.00
- 98.) 3 gals of Epoxy Primer Gray . 900.00/gals. Total of 2,700.00
- 99.) 3 gals of BODY FILLER WITH HARDENER. 935.14/gals. Total of 2,805.42
- 100.) 5 gals of 2" Paint Brush . 31.00/gals. Total of 155.00
- 101.) 5 pcs of 4" Paint Brush . 54.00/pcs. Total of 270.00
- 102.) 5 pcs of 6" Roller Brush . 90.00/pcs. Total of 450.00
- 103.) 10 pcs of Baby Roller Brush . 66.00/pcs. Total of 660.00
- 104.) 5 pcs of PVC Tray . 42.00/pcs. Total of 210.00
- 105.) 15 shts of #80 Sand Paper . 31.50/shts. Total of 472.50
- 106.) 15 shts of #100 Sand Paper . 28.80/shts. Total of 432.00
- 107.) 25 shts of #120 Sand Paper . 28.83/shts. Total of 720.75
- 108.) 5 rolls of "CAUTION TAPE" 2"x 50 yards . 900.00/rolls. Total of 4,500.00
- 109.) 20 pcs of 8mmØ Steel Bars . 200.00/pcs. Total of 4,000.00
- 110.) 20 pcs of 10mmØ Steel Bars . 225.00/pcs. Total of 4,500.00
- 111.) 20 pcs of 12mmØ Steel Bars . 250.00/pcs. Total of 5,000.00
- 112.) 30 pcs of 4" CHB. 25.20/pcs. Total of 756.00
- 113.) 10 pcs of 2"x 3"x 8' Good Lumber (4 BdFt) 160.20/pcs. Total of 1,602.00



CETIFICATION AB MICHAGORA CAMPAGE OF SECOND SECOND

Normal Road, Baliwasan Zamboanga City www.wmsu.edu.ph Telephone: 062-991-1771 LOC 1003

- 114.) 10 pcs of 2"x 4"x 8' Good Lumber (5.333 BdFt). 320.00/pcs. Total of 3,200.00
- 115.) 50 pcs of 3/4"x 2"x 5m Metal Furring. 114.00/pcs. Total of 5,700.00
- 116.) 50 pcs of 2"x 3"x 5m Metal Stud. 216.00/pcs. Total of 10,800.00
- 117.) 20 pcs of 1/4" thk x 4'x 8' Ord. Plywood. 504.00/pcs. Total of 10,080.00
- 118.) 25 pcs of 3/4" thk x 4'x 8' Plyboard . 1,380.00/pcs. Total of 34,500.00
- 119.) 50 pcs of 3.5mm thk x 4'x 8' Fiber Cement Board. 354.00/pcs. Total of 17,700.00
- 120.) 30 pcs of 4.5mm thk x 4'x 8' Fiber Cement Board . 480.00/pcs. Total of 14,400.00
- 121.) 1 pc of Water closet. 5,000.00/pc. Total of 5,000.00
- 122.) 1 pc of Lavatory. 2,000.00/pc. Total of 2,000.00
- 123.) 12 rolls of Butyl Roof Sealant Tape, 30cm x 5m, ODA. 350.00/rolls. Total of 4,200.00
- 124.) 10 sets of Toilet Bowl Ceramic, Std medium with water closet, ODA. 6,000.00/sets. Total of 60,000.00
- 125.) 10 pcs of Lavatory Basin Ceramic, Std wall mounted, ODA. 1,500.00/pcs. Total of 15,000.00
- 126.) 50 bags of Portland Cement, 40 kg/bag. 300.00/bags. Total of 15,000.00
- 127.) 20 bags of Tile Adhesive, Heavy Duty, 20 kgs/bag. 360.00/bags. Total of 7,200.00
- 128.) 8 cu.m. of Fine Sand, Note: to be delivered in bags . 1,800.00/cu.m.. Total of 14,400.00
- 129.) 8 cu.m. of Coarse Sand, Note: to be delivered in bags . 1,140.00/cu.m.. Total of 9,120.00
- 130.) 8 cu.m. of Gravel (G-1), Note: to be delivered in bags

#### FOR LOT AWARD

DELIVERY PRIOD: 30 CALENDAR DAYS. 1,140.00/cu.m.. Total of 9,120.00

The criteria to be used for the eligibility check of the prospective bidders, examination and evaluation of bids, post qualification and all matters relevant to this procurement shall be in accordance with Republic Act No. 9184 (The Government Procurement Act) and its Implementing Rules and Regulations.

Interested bidders may obtain further information from WMSU BAC Secretariat regarding the checklist of eligibility and technical requirements.

#### IMPORTANT NOTICE FOR BIDDERS:

- 1. Bidding papers may be acquired starting April 23 until April 30, 2025, from the BAC Office or download from website (www.wmsu.edu.ph). The WESTERN MINDANAO STATE UNIVERSITY shall allow the bidder to present its proof of payment for the Bidding Documents fees before the submission of their bids, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Hundred Pesos (Php.500.00). (Please attached the machine copy of the Official Receipt)
- 2. All bidders are required to post a Bid Security, at least Two (2%) Percent of the ABC in the



CESTIFICATION AB
ADDRESS SECTION TO SECTION

Normal Road, Baliwasan Zamboanga City www.wmsu.edu.ph Telephone: 062-991-1771 LOC 1003

form of Cash, Cashier's Check or Manager's Check or may submit Bid Securing Declaration. Bids without Bid Security will not be considered.

- 3. The Bidder shall prepare an original of the Eligibility Documents & Technical Components and original of Financial Proposal and clearly mark each "ORIGINAL ELIGIBILITY DOCUMENTS and TECHNICAL COMPONENTS", and "ORIGINAL FINANCIAL PROPOSAL", respectively. Bidders shall submit one (1) set of the first and second components of its bid. State the unit price of each item and the total bid price and also state the shortest time of delivery and submit your quotation duly signed by your representative in a sealed envelope.
- 4. Bid Submission will be on or before April 30, 2025 9:30 AM through Manual Submission.
- 5. Bid opening shall be on April 30, 2025 9:30 AM at BAC Office, 2nd Floor Administration Building, WMSU, Zamboanga City, Philippines, 7000. Bids will be opened in the presence of the Bidders representatives who choose to attend at the address above. Late bids shall not be accepted.
- 6. Price validity shall be for a period of 120 calendar days.
- 7. Bidders shall submit original brochures showing certifications of the product being offered.
- 8. Warranty shall be for a period of Six (6) months for supplies and materials. One (1) year for equipment, from date of acceptance by WESTERN MINDANAO STATE UNIVERSITY.
- 9. Bids received in excess of the ABC shall be automatically rejected at Bid Opening.

The WESTERN MINDANAO STATE UNIVERSITY reserves the right to reject any or all Bids and to accept the bid most advantageous to the government, and to award the contract by lot, if warranted.